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Section A (30 x 2 marks = 60 marks)

For each question from 1 to 30, four options are given. One of them is the
correct answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2,
3 or 4) on the Optical Answer Sheet provided.

1 The diagram below shows a food chain.

fant | — zebra | ———» lion
P

What is the main source of energy for this food chain?
(1) sun ' (2) plant
(3) soil (4) light

2 The graph below shows the population of four groups of organisms, M
N, O and P, in a community.

A

Population Size

Organisms

Which letters would most likely représent a-producer and a carnivore in -
the community? .+ . .- \ ‘ S

" | Producer | Carnivore:
M N | Mo
) N 0
(3) M N
4) M- P




3 The diagram below shows four organisms.

<
0¥? )
éi, ] a¥
toadstool tomatoplant  cactus
A C D

Each organism was kept in a glass tank, A, B, C and D, with the same
amount of carbon dioxide in it. The tanks were sealed up and kept
outdoors from 12 noon to 5 p.m.

In which tanks would there be an increase in the amount of oxygen after

5 hours?
(1) AandC only (2) BandC only
(3) BandD only (4 B,CandD only

4  Christopher used the setup below to conduct an experiment.

NS OV O\

no water 50ml of water 100ml of water

setupA. - setipB setup C

He watered the plants in ‘é‘et-ﬂps'B and C every day for a week and
. observed the th ree’set-ups: The leaves in set-up A were yellow and dry.

The leaves in set—upBlookedhealthyand the leaves in set-up-C -

dropped off easily:

 What wés, the éim of the ,ﬁexﬁerimént'?

.-(1)... Tofind out the effect of differ , .
(2) *To find ot how the amount of water affects plant growth - .
(3) To find out if water is needed for germination to take place -

@) Tofindout if the presence of water affécts the growih of plants

AL T LAY,

o difterent types of water oh planis= " - 0
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Sammy applied a layer of clear nail polish varnish on the upper side and
‘underside of every leaf of a well- watered plant. She placed the piant in

an airtight bell jar and left the set-up at her brightly-lit balcony.

sunlight .

bell jar <

plastic;bagﬁ—% ' :

_ i

Which of the following correctly describes the changes in the volume of
the different gases in the bell jar after 8 hours?

Carbon Dioxide Oxygen Water Vapour
(1) |__remains the same .| remains the same remains the same
(2) decrease increase remains the same
(3) decrease increase increase
(4) increase decrease remains the same

The diagram below shows a food web.

‘Which of the following organié

in the food web?

/ aphid | — X |— Y
plant |——| fryit fly / :
\ v T

ms could:c':orrect!y representWXY énd Z

W X [ Nz
(1) | _grasshopper. millipede - - | “ladybird -~ ~ _praying mantis’
(2) caterpillar butterfly - - . spider - -'—'--_-  o-osparrow
(3) | grasshopper . frog . _lizard ~ . woodlouse
(4) butterfly: _ladybird ~ - { - " spider ‘ 'chan"iélgc_in" )
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Which of the following factors will affect the survival of deers in a
grassland?

A Deforestation

B Long period of drought

C Increase in humber of lions in the grassland

D increase in number of horses in the grassiand

(1) AandD only
(2) B and C only
(3) A,BandConly
4 A, B, CandD

Study the diagram below.
Plant Y Plant X

Plant Z
tadpole

Which of the following may be observed after some time if Plant X
increased in number rapidly and covered the surface of the pond .
completely? -

A A decreasein the number of Plant Z..

B A decreasein the number of PlantY -

C An.increase in the number of tadpoles

D Anincrease in the amount of dissolved oxygen in the watef

(1) AandBonly
(2. AandConly -
(3): BandDonly
(4) B.and C only
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% The following food relationships were observed among four living things,

P,Q,Rand S.

¢Piseatenby S

¢ Pfeedson R

+ S feeds on R but not on
+ R gets its food from Q

Which one of the following identifies the roles of P, Q, Rand §?

Food Producer Prey Predator
(1) R Qand S PandS
(2) Q PandR.; Pand$S
3 S PandR | QandR
(4) Q RandS | PandR

10 Larry set up an experiment on tomato plants as described below.

Location

Pot Type of | Size | Amount | Number of Number
soil of of seedlings of
. , pot water earthworms
A | window | garden | large | 800ml 10 5
ledge soil '
window | garden | small | 800mt 10 5
ledge soil

What was he trying to investigate regarding the growth of the seedlings?

(1) The effects of overcrowding.

(2) The effects of water on the growth of the plants.

(8) The effects of earthworms on the growth of the plants.
 (4y The effects of the type of soil on the growth of the plants.

11 Andrew 6ollected some samples of organisms from a pond near his
‘'school. He identified and classified them in the table below.

Aquatic Plants | Aquatic Animals
| watérmoss fern. | dragonfly nymph
~ arrowhead water boatman
| duckweed ~ pond skater
vl eicabomba ‘tadpole
. hydilla - guppy
o elodea . frog’

How many populations of organisms did Andrew collect altogether?

(1) 10
(3) 11

) 12
(4) 13

PRSPPI
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12 Which of the following changes to the conditions in a habitat is not
correctly matched to how the organisms in that habitat will be affected?

13

Changes in the conditions of the How organism(s) is/are affected
habitat ' :
(1) | Forest fire Decrease in the populations of
plants only
(2) | Long periods of dry weather  Decrease in the population of
aquatic animal
(3) | Decrease in plant population Plant eaters compete for food
(4) | Rapid increase in population of | Less food is available for animal
animal eaters eaters

The tabie below shows the pdpulaﬁOn sizes of (;)rganisms'x, Y,and Z
over a period of 4 months. The figures were recorded at the end of each

month,
Oi'ganism April - May June July
X 3800 900 800 479
Y 13000 6500 6300 6400
Z. . 153 - 168 170 - 350

A drought occurred in May. Which of the following statements are true?

A The drought had the least effect on the population of organism Z. -

B Organismx- and ‘Y'were not able to thfive Whe_ri _there was a drbught.

C The population of organism Y was.

organism X from the drought.

ableto recover faster than that of

D The :d‘tb‘ﬁ‘ght‘:'éauéed;fhfe temperature to'incredse drastically and this o

“led to the decrease in-all the populations of organisms.

() AandBonly

B and D only

r Ul a Ak e Cnind

@ ABandCony |

s (M1
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14 Xiao Bo kept several potted plants in his room. At night, he switched off

15

16

o fertiIiSation

all the lights and closed all the windows and the door to his room. There
was no fresh air entering his room.

Which of the following shows the changes in the amount of gases in his
room after 5 hours? '

Oxygen Carbon dioxide Water vapour
(1) increase increase no change
(2) increase decrease no change
(3) decrease increase increase
(4) decrease decrease decrease

Which of the following statements about cells is/are correct?

A Some cells do not have nucleus.
B Cells increase in size as the organism grows.
C Cells of the same organism are of the same size.

(1) Aonly (2) AandConly
(3) Band Conly (4) A, Band C only

Which one of the following shows the order of stages and processes in
the life cycle of a plant? '

M )

seed . | young

A plant
A " Nfertilisation
L | " /'germination |
adult [ : young - g seed 1 B

) 0 ed - { adult
plant | fertilisation | plant R e, o

plant

seed |

young - JaRS
plant plant

4

fertilisation | plant
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18

19

20

- {3) A,BandConly

Which of the following best describe the importance of seed dispersal?

To reduce overcrowding

To reduce competition for food

To increase the seedling’s chances of survival

To obtain enough mineral salts from the parent plant

goOomr

(1) Aand C only (2) B and C only
(3) A, BandConly 4y A/B,CandD

Which of the following statements describe the functions of roots?

A Roots take in water -

B Roots take in mineral salts

C Roots anchor the plant firmly to the ground

D Roots store excess food made by the plant

(1) AandBonly (2) Band Conly

(4 A,B,CandDonly

Which of the following statements about saliva are true?

A Saliva is only released in the mouth.

B Saliva makes it easier to swallow food.

C Saliva helps in breaking down of food.

D Saliva breaks down food into smaller pieces

(1) Aand C only ‘ ' (2) C and D only

(3) A,/BandC only (4 A, B,CandDonly

Q'

The table below shows the freezing points of 4 sﬁb’éfanées, W, X, Y and

Liquid Freezing point (°C) |
W . 0 '
X0 30

Y i 8

VAR 15

- Whichoneofthefollowmg substances is a=sq'l_id"Aa'gl2.:8'-’.C;?_‘ T e
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Joshua placed 2 identical open bottles at the basketball court. He filled
one bottle completely with liquid M and the other bottle completely with
fiquid N. The next day, he observed that the bottle containing liquid M

was half-filled but the bottle containing liquid N was completely empty.

Which of the foIloWing can he conclude from his observation?

‘A Both liquids evaporated.

B There was a layer of oil on liquid M.

C Liquid N evaporated faster than liquid M.

D The temperature of liquid M and N are the same throughout the
experiment. ‘

(1) Aand B only (2) BandC only

(3) A,BandD only (4) A, Cand D only

Study the four circuit diagrams, A, B, C and D, below. The batteries are

_Identical and all the bulbs are lit up.

i )
circuit A circuit B '
fip- it
N '

circuitC - o cireuit D

~ Which one of the following statements aﬁodf"fﬁe Bri@hth_eé:s of the bulbs

. (1) Eachbulb in circuit D is brighter than the bulb ir circuit A.
' 7('2) “"Each bulb in ¢ircuit B is as bright as each bulb in Circuit C. -

(3) Each buib in circuit C is brighter than each bulb in circuit D
(4) The bulb in circuit A is brighter than each bulb in circuit C.

10
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23 Darrius heated up half a beaker of crushed ice for 10 minutes. He then
filled up the beaker with more crushed ice. He continued heating the
beaker for another 10 minutes.

thermometer
retort

stand

He measured the temperature in the beaker throughout the experiment.

Which one of the fallowing graphs below shows the reading that he
would observe?

N temperature | ‘ _ (2} temperature
A A

-0 ti:ne
temperature ' temperature
0 10 20 i 0 10 20 time

time

11
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24 A wooden block was released at point X on a ramp.

25

ramp —

Y
The time taken for the box to reach point Y was recorded. The

experiment was repeated with the famp coated with four different
lubricants.

The results are shown in the table below.

Lubricant Time taken to reach point Y(s)
A ‘ ‘
B 6
C 25
D 13

Which one of the lubr_icénts resulted in the least amount of friction
between the box and the surface of the ramp?

(1) A o (2 B .
3) C 4 b

In the diagram below, when object P was brought closer to object S,
objectP and S were pulled towards each other.

Tow»

Which of the following can be conclu_ded_fromrthe experiment?

- Both objects are magnets.: -1 ., .. Jnre
Both objects are made of magnetic material. - :
\ One.objec,t"is“made;of-a-mlégnﬁ?ti@-material;w_h."e:-the-other' is not
-One object is a magnet while the other is made of a magnetic -
material.
(1) Aand C only (2) B and D only
(3) A, Band Conly (4 A BandD only

12




26 The diagrams below show four activities.

Which activities involve an increase in gravitational potential energy?

{2) KandN only

(1) K and L only
(4) Mand N only

(3) LandMonly

13
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27 Jun Ming wanted to study the shadows formed by 2 identical objects.
The objects were placed in different positions directly under identical light

sources in a dark room. Shadows were formed on screens A and B as
shown below.

@
LT LT

screen A screen B

Which of the following are possible shadows that could have been
observed on each screen?

Screen A | Screen B’
A . -
B - .
(1) AandB oni'y R @) A and C only

(3) BandDonly - .. -«(4)... CafdD. oniy

14




30 A special switch called a thermostat is used in a refrigerator to COITI’[I'O.[ its
temperature. It tumns on the cooling system in the refrigerator when the
temperature rises above 5°C and tums off the system when the

temperature falls below 1°C. The following test is carried out when the
refrigerator is first switched on.

Which one of the following graphs shows how the temperature in the
. refrigerator changes over time?

(1)

on off on off on

temperature (°C)

- @)

temperature (°C)

(3)

temperature (°C)
. »

—,

4)

- on. off -on off on -

M-
>

temperature (°C)

-2

1R




28 The image below shows the Taj Mahal and its reflection in the pond.

Taj Mahal

Which of the following statements explains how the refiection on the
pond can be seen?

(1) The pond reflects the shadow of the Taj Mahal to our eyes.
(2) Taj Mahal gives out light which was reflected into our eyes.
.{3) The pond reflected light onto the Taj Mahal and the light was
‘ reflected into our eyes.

(4) The Taj Mahal reflected light onta the pond and the light was
reflected into our eyes.

29 The diagram below shows é hydroelectric power station.

reservoiry—

®)

generator

| turbine (B) E

Whlch of the fol!owmg shows the fonns of energy at posntlons A, Band

C'? .
S ;;Grawta’uonal Kinetic Energy - - [Electrical Energy - . -

- | Poténtial Energy [ . LR
| Kinetic Enefgy .~ :| Electrical Energy - .| Electrical Energy - . | .
" [Chemical Potential - | Electrical Energy Gravitational
Energy Potential Energy

(4) | Gravitational Kinetic Energy Chemical Potential
Potential Energy Energy

15
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Section B (40 marks)
Write your answers fo questions 31 to 44 in the spaces provided.
Marks will be deducted for misspel key words.

31.  The diagram below shows parts of 4 human respiratory system.

windpipe

air sacs

The windpipe branches info 2 air tubes in the lungs which further divide into
many similar fubes that end in numerous air sacs,

Explain how having so many of these tiny air sacs affects gaseous exchange 2]
inthe human body. A :

]




32. The diagrams below show two leaves, A and B.

purple
green
Leaf A Leaf B
Leaf A was plucked from Leaf B was plucked from
a plant which had been a plant which had been
left in a-cupboard for 2 left in a brightiy-lit room
days. for 2 days.

immediately after plucking, the colours of these leaves were first removed by
boiling the leaves and soaking them in alcohol. Then, they were tested for the
presence of starch using iodine solution. lodine, a yellow-coloured solution,
turns dark blue when it comes into contact with starch:

(@) Name the part in aleaf cell which enables it to make food. 1]

{b) A few drops of iodine were added to leaf A, the iodine remained 11
yellow. Explain this observation.

(1

- {0)ii) Explain youranswer for(i).- - - - -0 T a 10|




33.

(a)

(b)

- Explain the obsesvation for each tube, -

Mrs Lee set up an experiment using some geminating seeds and a lizard, as
shown in the diagram below. In the set-up, the drop of ink prevents air from
entering each of the test tubes A, BandC.

drop of ink

. lizard
chemical to absorb

carbon dioxide

water gt 37 °C

. Chemical to absorb
~ carbon dioxide

germinating seeds

It was observed that when the tubes were first placed into the basin of warm
water, all the 3 ink drops moved away from the test tubes immediately.
Explaln this observation, - 1]

Tﬁf_ee days later, the ink drops moved towards the test tubes in tubes A and C,

[2]

‘ fﬂb’e A

T-ube C ..'
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34. P and Q show the structures {not drawn to scale), produced by the male
reproductive organs of an.animal and a plant respectively.

P{ anim&l )} -

Q (Plant)

(a) Complete the table below with the correct information about the structures
shown in the diagrams.

Male organ which

Structu;e Name of Structure produces the structures
(i)
P testes
)
Q
pollen

(b} PartRis atail and part S is the pollen tube. Explain how parts R and § enable

reproduction to take place in each of these organisms. _

i R

W s
\,__/" A '

[1]

121

Wrneia



35.  The food web below shows six types of animals, P, Q, R, S, T and U,ina
particular community.

(@)  What will likely happen to the population of P when there Is a disease that wiped
- out only the population of T in the habitat? Explain your answer. {21

(b)  In the graph provided below, complete the graph by drawing and labeling a line [1]
graph which best represents how the population of U is likely to be affected
when the entire population of T was removed from the habitat. The graph
showing how populatiori R would be affected has been drawn for you,

r; .

Population
size

¥




36. The diagram below shows the set-up of a test that could be used to find out the
amount of energy released when food, such as the wainut is burnt.

| retort stand

thermometer

test- tube

heating
needle }

burning
watnut

Procedure of the test

« Record the temperature of the water in the test tube.

« Use a heating needle to hold a walnut in a strong flame until it catches
fire. :

» Place the burning wainut immediately beneath the large test tube until the
flame goes out.

+ Record the temperature of the heated water

(a) State the energy conversion that takes place from the sun to the Walnut and ['1"']
lastly to the water in the above test.

buming  yeat
energy of
walnut
: 'e‘UQfQY-fTOm energy of - | o - _e_'ri_ergybf
the sun walnut S L swater

ToaTalLie




(b) The set-up was used to fest 3 types of food, A, B and C. The data obtained is

shown below.
Temperature of water {°G)
Food ~ Before heating After heating
A 25 32
B 25 40
C 25 34

Using only the data shown above, which food, A, B or C must be consumed in [2]
the fargest quantity to obtain as much energy as the others? Explain why.

(c)  Explain how the distance between the bumning food and the test tube affectsthe  [1]
resuit of the experiment. -




37. PeiPei caried out an experiment as shown below.

in the inthe in the
classroom refrigerator field

She put the'same amount of milk in each of the test tubes and left them at
different places. After a few days, she noticed that the milk in test tubes A and C

had turned bad.
(a) Name the organism that could have caused this change in the milk. i1
(b) Name and explain the process that hiad caused this change in the milk. [1]
G Explain why this process did not happen in test tube B. (1]




38.

(a)

(b)

P Q R

Number of organisms at the 10 20 10
beginning
Number of organisms before 10 20 10
Organism X was put into th
aquarium ‘
Number of organisms after 10 10 15
Organisms X was put info the

‘Laquarium -

Judy placed 3 aquatic organisms, P, Q and R, in an aquarium and recorded the
number of each type of organism in the table below. The conditions in the
aquarium were favourable to the survival of all the 3 organisms. The number of
each organism present after 1 week was recorded in the table below.

Then, she added some organism X into the aquarium. After 1 week, she
observed that there were fewer organism X in the aquarium and also noted the
change in the population of the other organisms.

Based on the information provided in the table above, describe the food
refationship among organisms X, Q and R. ' [l

When Judy removed all of Qrgahism P from the aquarium, she noticed that
organism X, Q and R started tp.swim"near.the -surfqoe of the water, N

What could Organism P nﬁgé@j_likglg be? Giye a _ré_aspn_for_yqyr_,a‘ngweg _ 7]

10




39.

- (a)

The diagrams below show a popgun that works using a spring. When the handle
is pulled back at a distance of ‘X’ cm and released, the ball will shoot out of the
popgun.

When the handle is not pulled:

ball spring  handie
When the handie is pulled:

| e (\ :'.--.I.‘,- .-’ : =

ball spring handle ~

The table below shows the distance travelled by the ball when the handle is
pulled back at different lengths.

Length of X (cm) | Distance travelled by the ball {cm)
2 6
5 12
8- .18
11 24
14 29
17 . a - 35
17 . 35

- Describe the relationship between the length of ‘X’ and the distance
travelled by the bail.

11

M




(b)

(c)

40.

(.

Name the force that enables the ball to shoot out of the popgun.

.Explain why length of X cannot be greater than 17cm.

Jack ran along a path on a rainy day as shown in the diagram below.

L_

e
tur'

smooth tiles grass sand

* On'which part of the path is Jack-most likely to fail?

oy

" Give a reason for your answer:

)

12

(1]

(1l

[l

i1




41,

Fiona wanted to confirm her hypothesis that the rate of evaporation of water is
higher when the exposed surface area is bigger. She filled four beakers, A, B, C
and D as shown in the diagram, with equal volume of water, and covered the
beakers with the cards she had prepared. Different shapes had been cut out
from the cards as shown. Shé placed three of the beakers on a table in the
science room and another one at the baicony.

A B c ' D
Two days later, she measured the volume of water left in each beaker using a
measuring cylinder. The readings are shown in the iabie below.

: Velume of water {(mi)

Beaker A | Beaker B | Beaker C | BeakerD
Day 1 100 100 - 100 100
Day 2 85 65 71 57

Her father told her that she had not carried outa falr test as she must keep the

location of all the beakers the same.

(@)

Explam your answer.

'Based on the results above, which beaker was most likely left at the ba!cony?

Fgctor 1.

B . (b) Statetwo other factors that could affect the rate of e\.'aporéti,qn. _

“Factor2;__

13




42.  Four flasks were filled with different liquids, A, B, C and D and placed into a

basin of water at room temperature as shown in figure 1 befow. The liquid in
each flask was adjusted to the same level.

A B C D

water at
room
temperature

Figure 1

The four flasks were then placed into another basin filled with hot water. After 5
mins, the liquid levels in each flask rose, as shown in the figure 2,

D

hot ~— 5:
water

Figure 2

(@) State the aim of the experirﬁent. '-

M

(b)  Which of the liquids, A, B, G fJ.r“tD."is the most suitable to be used to fill a | [ﬂ
laboratory thermometer? Explain your answer. B -

14




43. The diagram below shows a fried ice cream.

gas bubbles ice-cream

L= " ' a."@& =¥ S
£ o) nﬁ?ﬁ.a Suirmsislaile N

d?‘? C‘Ke-..b-. WSS, a3, 00021, ?*.".‘
o N1 o

flour dough

Flouris mixed'\ivith substance X and water to make a special dough. The ice
cream is then dipped into this special dough before being fried in hot oil. The
special dough will produce gas bubbles when it interacts with hot oil.

Explain why the ice cream did not melt in the hot ofl during deep frying. {2}

15



44, The diagram below shows three objects, A, B and C, each made of a different
material placed between a torch and a screen in a room.

screen
Ve

cPTIrTTYYY

2om ‘2cm

Mr Tan tumed on the torch and observed the shadows that the different objects
formed on the screen. The shadows appeared as shown below.

—Sscreehn

(@)

Mr'Tan used a datalogger to measure thé amount of light passing through each !
of these objects individually. Based on the images formed on the screen above,
identify the graphs which represent the light that passed through each object.

Wirite the letters representing the objects in the boxes below.

A o e

o -Ar'ﬁount of light (qu) |

Objects
16




(b) Shirley shone a torch on an object made of opaque material from two different
positions as shown in the diagram below. The shadows were cast on two
screens, A and B,

torch Position 1

AN
— ] torch
>0
/ Position 2
screen A
screén B

() Draw the shape of the shadows formed on the two screens, A and B,
respectively. 1]

Screen A L Screen B

(i) Shirleynoticed that the shadows formed on both the screens were very small.  [1]
" Suggest how she could make the shadows appear bigger.

17







EXAM PAPER 2013

SCHOOL : NANYANG
SUBJECT: PRIMARY 6 SCIENCE

TERM : SA1

o1 20304 | Q5] 061 Q7 [ 08 | 00 J0io]oil]|o2]0i3]014]015] Q6] 017
1 | 3 | 4 2 |1t |44 [t [2 113 |14 (3| 1] 4]1¢
018 (0191020 021 [ 0220231 Q24 [ 025 [ Q26| 027 [ Q28 | 929 Q30
4 | 312 ] 4 |3 1112123 4] 4112

31)It increases the exposed surface area of the air sacs and the amount of

oxygen taken in is increased.

32)a)Chloroplasts.

. .b)As leaf A was placed in cupboard, where there is no light, it could not
photosynthesis and thus, leaf A will not make glucose, which us stored as

starch.
“€)i)

' ii)The chlorophyll is a green pigment that traps sunlight to' make food. -

Pageito3
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33)a)The water heat the air, which then expanded and pushed the ink drop
away.
b)A: Germinating seeds take in oxygen and give out carbon dioxide than
the chemical absorbs the carbon dioxide resuilting in a decrease of air.
C: The lizard took in oxygen and give out carbon dioxide then the
chemical absorbs the carbon dioxide resulting in a decrease of air.

34)a)i)sperm ii)anther
b)i)It enables the sperm to move to the egg.
ii)It allow male cells to travel to the ovary.

35)a)The population Q, R, S will increase, plant population will decrease and P

will have lesser plants to feed on.
b) .

/R
/.u

e
>

36)a)Light energy->Chemical energy—> Heat energy

b)A. Since temperature of water increased the least, it gives off the leas
amount of energy. : :

Or) Since the tem peratu re of water increased the least it has lesser
chemical potential energy to be converted to heat energy.

c)Distance between the burnmg food and tube will affect the temperature
of water.

37)a)Bacter|a o
b)Decomposition. The bacterla broke down the milk, causmg it to go bad.
_ .c)Test tube B is left in the refrlgerator, temperature is too low for the
bacterla

o _38)a)x eats Q but gets eaten by R, ' ' g
" b)WhenPis removed no photosynthesns is avallable, thus, orgamsm swim
- nearer to the water surface to take in more dissolved oxygen. '

o .39)a)As the Iength of ‘X’ mcreases the d|51:ance travelled by the ball mcreases.
‘- b)Elastic spring force.. s e
c)The sprmg has already been compressed to |ts fullest length
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40)i)Smooth tiles.
ii)Smooth tiles has the least friction between Jack’s shoes and the smooth
adding water makes the smooth tiles even smoother.

41)a)Beaker B. It had a smaller exposed surfaced compared to C but still
managed to have less water left after the experiment.
b)1: Humidity.
2: Wind.

42)a)To find out which liquid expands the most when heated.
b)C. It was the most sensitive to the temperature.

43)Air bubbles are poor conductors of heat and prevented ice cream gaining
heat quickly. '

44)a)B A C

b)i) i

ii)She could decrease the distance between the torch and the object.

' Page3

- ay



-k




	Nanyang SA1


